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D 6900a, 69 m?2 @ 5km?, 500000 m?
@ 850ha, 8.5a @780000 m2, 78 ha
® 4a, 40 m?

B

@ 6900 a = 690000 m?
@ 5km? = 5000000 m?
® 850 ha = 85000 a

@ 4a=400 m?




@ 56000000g = 56t

@ 380000g + 0.063t = 443 kg
@3.5t + 820kg = 1170 kg

@ 0.7t 2 70g 2] 10000 HjolTt.

® 380kg + 4200 g = 380.42kg

1t = 1000 kg = 1000000 g
@ 3.5t + 820 kg = 3500 kg + 820 kg = 4320 kg
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O 4a=400m? @ 2000a = 20ha
® 6km? = 6000000 m? @3500000a = 35km?

® 780000 m? = 78 ha

@ 1km? = 10000a ©] B2
3500000 a = (3500000 + 10000) km? = 350 km? I},
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54.4ha = 5440a = 544000 m? ©]BL.&,
(BAAEF 2] Hol)=800 x| | = 544000

[ ]= 544000 + 800 = 680( m)
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600 x 450 = 270000( m?)
270000 m2 = 2700a YUt}
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